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class {

int Kor;
int Eng;
int Math;

. pe udenf( \L . l, . ) { Kor= 0; Eng= 0; Math=0; }
21 & Student(int(X) int(y,) int { Kor= x; Eng= y; Math=z; }
2

double avg() { return (Kor+Eng+Math) / 3.0; }

void disp() {
System.out.println("-----==-cccuuummna-- ")
System.out.println( "Kor= " + Kor )
System.out.println( "Eng= " + Eng )
System.out.println( "Math=" + Math )
System.out.println( "Avg= " + avg() )
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class Student {
int Kor;
int Eng;
int Math;

Student( )
{ Kor= 0; Eng= 0; Math=0; }

Student(int Kor, int Eng, int Math) Bg pynws povemstev
{ Kor= Kor; Eng= Eng; Mathabath; } oy

double avg() { return (Kor+Eng+Math) / 3.0; }
void disp() {
System.out.println("---------ccuuuuunns
System.out.println( "Kor= " ;
System.out.println( "Eng= "
System.out.println( "Math="
System.out.println( "Avg= "
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Student[](§)= new Student[S];
= new Student (99, 45, 90);
12%\ = new Student(88, 55, 80);
Y = new Student (77, 65, 90);
- = new Student(66, 75, 80);
WA = new Student(55, 85, 90):
disp();
disp();
disp();
disp();
disp();
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SN Y Q@) void (avg ko&(Student[] 5)} {
U\. ~ 0 . —
A \@( int 1;
ISSR / double avg = 0;
%gﬂ.“" for (i=0; isS length; ++i) {
AN y M G0y
b( @). avg /= S.length;
System.out.println("Kor Avg = " + avg);
}




static void Student[] S, int mode) {
int i;
double avg = 0;

for (i=0; i<S.length; ++i) {
switch (mode) {
case 0: avg += S[1i].Kor; break;
case 1: avg += S[i].Eng; break;
case 2: avg += S[i].Math; break;
default : avg = 0; break;
}

}
avg /= S.length;

switch (mode) {

case 0: System.out.println("Kor Avg
case 1: System.out.println("Eng Avg = " + avg); break;
case 2: System.out.println("Math Avg " + avg); break;
default : System.out.println("Incorrect Mode!!"); break;

}

" + avg); break;

Student.@vg mods
Student.Qqvg modeé

Student.@vg mo




public static void main(String[] args) {
// TODO Auto-generated method stub

Student[] S = new Student[5];

S[0] = new Student(99, 45, 90);
S[1] = new Student(88, 55, 80);
S[2] = new Student(77, 65, 90);
S[3] = new Student(66, 75, 80);
S[4] = new Student(55, 85, 90);

S[0].disp();
S[1].disp();
S[2].disp();
S[3].disp();
S[4].disp();

Student.avg mode(S, 0);
Student.avg mode(S, 1);
Student.avg mode(S, 2);







